Power Knife Parts Listing

Part [Quantity |Per Material Description

109049 1|Unit FRAME ASSEMBLY

109227 1|Unit PINION - DRIVE

109057 1|Unit COVER - PINION (MOLDED)
109058 1|Unit HOUSING, FINISHED POWER KNIFE
109059 1|Unit BLADE, FINISHED POWER KNIFE
109082 1|Unit DEPTH GAUGE (MACH.)

122727 2[Unit BOLT 1/4-20X11/4

122297 2|Unit KNOB - HANDPIECE

109083 1|Unit HANDLE - MOTOR HSG (MACHINED)
109258 1|Unit MOTOR ASSEMBLY COMPLETE
123277 6[Unit SCREW, #6, SELF-LOCK SEALING
109017 1|Unit LABEL - HANDPIECE NAMEPLATE
109268 1|Unit CAP/SWITCH ASSY, HEAVY-DUTY
109022 1|Unit LEVER - SWITCH ACTUATOR
109077 1|Unit SPRING - FLAT

109076 2|Unit SCREW - SELF LOCK

123278 2[Unit SCREW, #8, SELF-LOCK SEALING
122487 2|Unit WASHER, #8, SEALING

109265 1|Unit PLATE, CAP ATTACHMENT
122488 1{unit O-RING, (-30) |

109266 1|Unit RING, MOTOR SUPPORT

123003 1|Unit CONNECTOR STRAIGHT METRIC
109246 1|Unit PANEL TRANSFORMER MTG MACHINED
123467 5|Unit SCW #8-32 X 3/8

120301 5[Unit HEX NUT #8-32

120235 5|Unit WSHR EXT TOOTH #8

100093 1|unit SEAL NSF |

109075 1|Unit LABEL - FUSE WARNING

109078 1|Unit LABEL - SVC WARNING

120982 2|Unit CLAMP, PLASTIC TIE .093Wx3.62L
500715 1|Unit LABEL - GROUND |

109247 1|Unit ENCLOSURE ELECTRICAL

109037 1|Unit TRANSFORMER ALTERED 115V
122298 4[Unit SPACER #8-32 X 5/8 THREAD
122735 4{Unit SCREW #8-32 X 3/8 NYLON
109040 1|Unit RECEPTACLE ASSY DISCONNECT
109036 1|Unit POWER CORD ASSEMBLY - 115V
124805 1|Unit BOARD D.C. MOTOR CONTROLLER

7

BETTCHER’
Industries, Inc.



